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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

§729)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises five sections — Sections A, B, C, D and E.

There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying

3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)
Why has India adopted a multi-party system ? Explain. 2
Examine the significance of air transport. 2
How do political parties shape public opinion ? 2

Why did Indian merchants and industrialists support the Civil

Disobedience Movement ? Explain. 2
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(5.1) a& fafmion & fofu STeawaeh SR amt - g ? 1

(5.2) T JTN H oI HaY T Th I ST, | 1
Qus @

(Fg-3wa Te) (3x3=9)

“HAoH TSE T8H I ged AN T I H TRG I HE UgT i oh W
Al O I = H W@ T&A A1 |7 9RG o HeH H 39 HAT hl gfte

T | 3
(%) RO oh YA R SIS @il § A T HIT | 3
aterat
(@) d, fa<ii™ Jomeft < T HoT e o &9 § fhE TR SR AT & ? T
i | 3
‘Teh-gol HaEAT <t fohegl i formIvaati sl ¥ose iR | 3
WUg T
(e -3erdra W) (2x5=10)
(F) “Arpdd weH, o gaesl (Reredl) & 98 & 17 39 ®UT H
[EESEMIEDIE I 5
arera
(@) ¥ g 4 drehad o feR % fau 9 'We W wR 1 fower
HIT | 5
(%) fogefl MR R IR % THRWT o G H JATEehtul 1 HodTehd
HIT | 5
arera
(@) “gfen % g & I ey areft SR ufsean § sgusie shufiEt
T Y@ Ik @ & |7 38 YT I AFETd ST | 5
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5. Study the given flowchart and answer the questions that follow :

Fibre s e Weaving
Production P g Knitting

. Garment
manufacture

Dyeing and
Finishing

(5.1) Which is the basic material required for garment manufacturing ? 1
(5.2) Give one example of value addition in the textile industry. 1
SECTION B
(Short-Answer Type Questions) (3x3=9)
6. “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3
7. (a) Differentiate between formal and informal sources of Credit. 3
OR
(b) How does a bank work as a key component of the financial
system ? Explain. 3
8. Explain any three features of ‘one-party system’. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
9. (a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5

10. (a) Assess globalisation in terms of foreign trade and integration of

markets. 5
OR
(b) “MNCs have been a major force in the globalisation process
connecting distant regions of the world.” Justify the statement. 5
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11.

12.

Qs v

B
O

(ha-ATeTiE 99 ) (2x4=8)

it fou U g i eaHYE® dfeu iR IWeh = g MUyl o S fefaw
i areferasen 6 Sfram Wt

Jgd THY o AR AT UREEd Godr Th g & d & fedr S
o7 | fasm qen Wenfiehl < fash & W19 R 9 qiEs o JwE & | foeqga
I3 3 7 | T&W I e Tl arel IREET ¥ oI §ER TS S8 19 § giafdd @
T R | UNEEd Wl A faehm TeR d1gEl < foehE i gerar 9 & 9vd g el
8 | $EifeTy aiteed, SR 9 SR Th-g8 % 0 2 |

A WRA A fomer smebr, fafquast, Wi qem wmwHE 9 wrepfos
qg«ldlﬁ%QId%qW%Hﬁﬁﬁﬁwmﬁﬁngm%Iiﬁ Iy @
S qiEEd, GuERE, e, geed, fEHmr qur see, oAl g€
grTSes-31fde foema T 319 TR O R 3 | TiiHe O Sraudi iy
IR+ AT Sl e MRk & 8 | $94 GAR o hl TG foham & el
IR Sfad o T glawrsti g @rei d sgiad 1 7 |

(11.1) d9iEed o oM@ H 99 fF8 TR T AUl i & ?

(11.2) HMIRIH o HEhideh dgaidl i qiasd fhH ThR ThHihd HdT 8 ?
e ST |

(11.3) frefl T & fofu o= & we<a o1 favetwor HifSe |

= feu Tu S @ eaHgEe afen 3 35k i for T et & 3w fofau
Teran feaw 6t vawr, 26 S, 1930
T fagamm 2 fop fordlt oft a6t 9@ wetT Sar &1 oft 98 U Srewiiy
(inalienable) ﬁw%%ﬁﬁﬁé, 3TC|7-ﬁDI6-|dT=F[ hd A 3R Sheq
i gt TrEvTeRaTe gt g EH I M §ed % IR T fied | AW 98
ft fogam 3 fop afe 8 Y Ter Ao S9a1 =1 37 ARl & dfva WEd! 8
3T gETcht g a1 a1 1 Ht TR i Faa A1 3H A FHI HiH hl DR
2 | wa ° fofew (foaml) @R 3 7 Shad WA ST i Saadr 8 dfd
foram 8 dfces 3T AT b1 WU foham @ S e 1 afifsies, TeHIfdes,
TiEepfas Td IAeATfeosh T W T8 R fen 2 | safere g fovam 2 fob wra
HI AMEE €9 ° BT o @Y 9 It Hedl Sl FUTH ek U1 @S UM
T AR |
(12.1) AT i YA RN ST TGN AR AT =T TR 2

4

1
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11.

12.

SECTION D

EE
I

(Case-based questions) (2x4=8)

Read the case given below carefully and answer the questions that follow :

Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(11.1) How 1is science an important factor in the development of
transport ?

(11.2) How has transport integrated socio-cultural plurality ? Explain.

(11.3) Analyse the significance of communication for a nation.

Read the case given below carefully and answer the questions that follow :
The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(12.1) Why was freedom considered an inalienable right of the Indian
people ?

4
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(12.2) WG % SN gRT YU TGS i STE9Th F1 HHT T 2 1

(12.3) HITF & ATRR TSI (1930) o AETT hl SITSAT iU | 2
LCLERC
(urters-amentia a9) (1+2=3)

13. () feu MU wRa % TorHifae W@I-AEEE (98 11 W), § efafad e
& TEEA ¥ ‘A’ B9 § fufed T Y ugee hIfGT 3 3k UE
i T8 T W 3T Fgl A fekau |

A. I8 T T &9 o HIOT STEEANT eI bl Iiivd for=m mm | 1
(i) feu U wRE & s W@rAERE | FEfdafgd i sifed hifse it 396

Tm fafgu |
(F) (1) T GEY] SHAT G 1
HAAT
(II) STCE |TFRAI CoIcATST UTeh 1
(@) gfeu el ST=ausd™ gamE yoH 1

qig:  FHEciRad g97 Fac7 GRETEAT qhemdat & 77 397 &1 13 & €& T/

&1 3x1=3
(13.1) 39 TsF o1 AW ffaw Si@f 1927 T YRAT TET HUE $1 AfREsH
73T | 1
(13.2) (%) 38 TF o1 9 ferfgu sr&f 70 o] St w9 fedra 2 | 1
arera
(@) 39 TsF &1 1 fARau Sgf siee Aieaat daieist qeh a8 | 1
(13.3) 39 W& o1 7 ferRgu rat sfeu mieht sratisdts garg v fea 2 | 1
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(12.2) Why was Purna Swaraj considered essential by the people of
India ? 1

(12.3) Explain the significance of the Lahore Session of Congress (1930). 2

SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 1

(i1))  On the same given map of India, locate and label the following :

(a) (D Narora Nuclear Power Plant 1
OR

(IT) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b)  Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 1
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